24

T
g

Eifefhize (A01)

<

THE4 | R3fL WS - WA I T FHENX Sy 7)1 et
THXSy FiR -
THX 5y - AR - R - A0 Biks HAL Gl e (4E) H R e
FiR -
= 1
I =T
= 1
LR T
= 1
IEHEENE (9] 1:50) BUGHK L, PE VR B ED
WRL - Rt
m2 80
7 AL PR T
= 1
BRI 30151 TR CEE AR Y 5T
m3 120
e Y Uy
m3 120
BeREE T
= 1
(=N
= 1
PR Y (R TE:
m3 200
HERL TE D
m3 70
- e U




T
g

<

EiRfEZR (R01)

R 3fEL MU B - SR I T FER Sy )1 e f&
TR X5y vk e
TFX gy « TRE - FER - FmB1 FS BT e (FimE) & (4mE) B T
FEE R
m2 80
ST FTHERE T (H& ) BT
2V 1
) ks BERESE)E S L ImA 4B 2 2moARH, AIA
158 ) Bk a9 )~ K& 1 18-8-40 (E4F)
W/C=<60% m3 18
) ek BEBES1 5 & Im A8 2 2moAR, A
25 5 ) Rk a9 )~ A& 1 18-8-40 (E4F)
W/C=<60% m3 4
1R IR KA RESE - ~T1: 1 CF200 X 5
m 3
AT HERE T
VAR Y= i
= 1
TR FERERA IS )79V v 7 /40~0, B
:0. 2m
m2 140
)=} PEBE DO RIE : /NRUERE, HEBE D 15 5
W/C<60% X :0m, 27— 1 18-8-40 (),
P AR, av)) - MRS m3 69
73i51] BRI HS - £2:SD345 D16~25
t 0.21
H bk B MR O FEEA - U 5 R L B Hipi t=1
0
m2 7
1R IR KA FESE - ~T1: 1 CF200 X 5
m 28
— 2 — %l:m%/a\




[= = A1 A E‘ /\
TS ERRER (401)
T4 | R 3L BRI 0 - WP s Wl T FERXS )l ek tE
THERXS vk e
TFX gy « TRE - FER - FmB1 Hikg <X{va e (FimE) & (4mE) B R
T TP DFEFE  — R
m2 180
T FTHERE T
1758 B ek
= 1
39 PERE DRI -/ NELBERE, ERE O -1 5
W/C=<60% & :0. 35m, 27— MEAE : 18-8-40 (FHF
), TR AR, 2V - MR E m3 0.4
ERAD BRI - £2:SD345 D16~25
t 0. 004
g P O FESE : — R
m2 3
a/))-MEo Y SEHIES Y E 3embL T
m2 1
HIIFL
fL 8
{3 H5E R T
= 1
TAT 7 v Mg T
= 1
B s (B ER) PRARAAFREE AT, BB B (RC-30
AT D JE D 100mm
m2 65
=)@ EE) PRHEEE : PR RLET A7 7V MRA#) (
13), HH%EE : 40mm, FINE B 1. 4
T (124 0 2 B v JE50mmLL T) m2 65
— 3 — %l:m%/a\




24

T
g

ez (A01)

<

TH4 | R3S BRI 05 - W0 I T FHENX Sy 7)1 et
THXSy FiR -
THX 5y - AR - R - A0 Biks HAL Gl e (4E) H R e
YL T
= 1
OGS EUE L L
= 1
AR GO SRS 727 7 MR, 7 AT 7V b
FERRE : 15emEL
m 136
SRR A BBASRER - 727 70 AEENE, N
“4cm . o
LR T
= 1
s I RFER T AT 7V ik
m3 3
ALy AR T A7 70 bk
m3 3
FRERR TG VR R AL B
m3 0.1
G an
= 1
AZIHAE BT
= 1
S IE SR A B
AR 100
_y - e U




o2

FEER A (AR01)

»

THF4 | R3fELE WML w5 - P s W)L FEX Sy )1 efe
THEXS TR
T XSy - AR - FER - A5 JREE BT ek (filED) & (50 B2 S
[ER %
2V 1
ez
2V 1
IR
=K 1
el B
2V 1
SERAER Y (FE R 52 51)
2V 1

= 1
i T

= 1
B i

= 1
T

= 1
— R

= 1
TEATAK

= 1

-5 - T I




EiRfEZR (R01)

T
g

<

TH#4 | R3MEL W 8 - #AHMA W) T HEX Sy miekfs
THRXY B e
TEX Sy « TfE - FEY - 4051 JRKE BT ¥ (Rl HE (5E) R e
T2 BAE M OV 7 3 e Bl 4
= 1
T
= 1
-6 - TE IR




